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(Total 60 Marks)

I- Reading (30 Marks)
A- Vocabulary (14 Marks)

A. From a, b, ¢ and d, choose the most suitable word that best completes
each of the following sentences: (4X2=8 Marks)

01. In ancient times, the Romans liked watching ..................... racing.

a. mayor b. chariot c. issue d. agent
02. Tom is completely ..................... ; that’s why nobody likes him.

a. solar b. selfish c. steep d. polar

03. My mother likes to keep her favourite mugs oraganised in the .....................

a. idiom b. population c. cabinet d. value
04. The price of your order will ..................... the delivery charges.
a. sweep b. operate C. SOW d. include

B. Fill in the spaces with the most suitable words from the list below: (4X1%:=6 Marks)

heavily / endangered / renewable / regularly / hard-working

05. Ineed to go home now; it’s raining heavily outside.
06. We should work hard to protect endangered animals and birds.

07. Governments must find renewable sources of energy.

08. Brushing your teeth regularly keeps them clean and healthy.
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B- Reading Com rehension 16 Marks ‘

- Read the following passage carefully, then answer the questions that follow:

Mario owns a restaurant called ‘A Taste of Rome’. It serves Mario’s famous spaghetti
with meatballs. It also offers lasagna and other dishes that his mother cooked for him when
he was young. It’s on a busy street with no parking spaces. It has been open for five years.
Now, it’s a huge success. But things were not always this great.

When he first opened the restaurant, business was very slow. Mario was the only
worker. He greeted guests at the door and seated them. Then he would start cooking. Each
meal took about 60 minutes to prepare. Once Mario finished cooking, he would bring the
food to the table. Most guests never returned, but often ordered takeaway.

Mario hoped to bring in more business. He asked customers about their opinions after
each meal. Lately, the restaurant has gone through big changes based on customers’
suggestions. Today, Mario’s restaurant has two greeters at the front door. They welcome
guests and show their seats. The kitchen has two more chefs. Now they can serve a meal in
less than fifteen minutes. Lastly, it now offers free parking. This allows guests to drive

right up to the door.

A. From a, b, ¢ and d, choose the most suitable answer: (6X2=12 Marks) O

09. The best title for this text would be:

a. Mario’s Mother
b. Delicious Food
c. A Big Success
d. A Busy Street
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10. The underlined word ‘greeted’ in the 2nd paragraph means:

cooked
welcomed
thanked

ignored

o o

11. The underlined pronoun ‘they’ in the 3rd paragraph refers to:

a. greeters
b. customers
c. changes

d. suggestions

12. Mario’s restaurant became better because:

a. he was the only worker.

b. there is no parking space.

c. he asked for the customers’ opinions.
d. he greeted the guests at the door.

13. Customers didn’t come again to the restaurant at first because:

a. they didn’t like the food.

b. the restaurant was far away.
c. it’s been open for five years.
d. the service was slow.

14. The writer’s main PURPOSE in writing the text is to:

tell how hard work can bring success.
explain how working alone is difficult.
show how food is cooked in a restaurant.
inform us about the work in restaurants.

oo

B. With reference to the passage, answer the following questions: (2x2=4 Marks)Q

15. What dishes does Mario’s restaurant serve?
It serves Mario’s famous spaghetti with meatballs. / It offers lasagna and other
dishes that his mother cooked for him when he was young.

16. Why did the restaurant offer free parking?
The restaurant offered free parking because there was no parking space. / ...to
allow guests to drive right up to the door.

Any reasonable answer with reference to the passage is accepted.
3
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I1- Writing (30 Marks) v

A- Grammar (12 Marks)

A. From a, b, c and d, choose the correct answer that best completes each of

the following sentences: (4X2=8 Marks) Q

17. WhileI..................... my car, a policeman stopped me.
a. drive b. am driving c. was driving d. driving
18. The Wright Brothers were born in USA ..................... they invented the plane.
a. which b. where c. who d. when
19. Idon’t feel well; I'm going ..................... at home this weekend.
a. stayed b. stay c. to stay d. staying
20. Dana..........cooeeenne. cook dinner last night because her mother was sick.
a. had to b. has to c. having to d. had
B. Do as required between brackets: (2X2=4 Marks) Q

21. Hamad bought flashlights for camping. =~ (IMake passive)
Flashlights were bought for camping.

22. We will be late for the cinema. (Make negative)

We won’t be late for the cinema.
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B- V;’riting (18 Marks)
\J8 /

- Write on the following topic:

It is clear that things have changed greatly between the past and nowadays.
Plan and write a report of two paragraphs (not less than 8 sentences) about life in the
past and life nowadays.

- The following guide words may help you:

easy / happy / fast / jobs / mud / electricity / technology / modern

NB: Writing should include (a topic sentence, supporting details and a conclusion).

The Plan (2 Marks) Q
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The Topic (16 Marks)

Exposition | Paragraphing Changin
Planning | ofideas & | and number Gr Sp Hw. Pu P ging Total
ormat
coherence of sentences
2 6 2 2 2 2 2 -2 18

e 2 marks to be deducted from the total mark for changing the format.
e Off point planning / topic receives ZERO.

ol Gl
Chinidly ol Libuiad 30




